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q412Z/STT- 28Mm=X eonelsiadi
£3/9xe/Tee | £3/,04€/STT le30
C3/9XY £3/,04€ ETMX+TT M) M- erse ejjow av
0 0 0 0 | Xbe-xde 0 av 04
0 0+0
0 0 0 0 |Xbz/T+xdz-| 0 av 40
LI X+0/X8-9T | £3/X4-03/0dY 0/ X4+X48-0497T £3/94 | x4-0dv ax-y | ay 4v
C3/9Xer9 | £3/,94(8+€/79)
A1 x £3/xd a/ x4 r3/a4- x4- a/x- ay v
91 0 gdet 0 a4€ v qv3
C3/9X9T r3/,04(0+21)
91 0 gdet 0 ade- v- q3v
LI X9T/6+0/XC/E+T 0 A/ XH9T/TZ+X4p/G-04p- | O | XdP/Z+0dp- | A/xXp/e+T | Oy 3d
£3/0X82 3/,04(0+2)
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PROCEDIMENTO E RISULTATI Nome:
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Sviluppi di calcolo iperstatica

L% =[2(1 23 +xb* ) 1EI dx = [ x-xb +1/3x%b* | 1/E

=(b-b+1/3b) 1EJ) =13 b/EJ
L% =[50 ) v dx = [13 %2 ]] VED
=(v3b) VEI =13 b/EJ
X =["(1) vesax=[x]. ves
=(4b) 1EJ =4 b/EI
X =["(1) vesax=[x]" vEI
=(4p) VEI =4 bEI

b 4b
L% = [2°(16 -6 /b +9/16 X7/ ) VEI dx = [16 x -3 X%/b +3/16 x°/b? " 1/E3

=(64b-48b+12b) 1/EJ =28 b/EJ

b 4b
L% = [7°(1 4312 x/b +9/16 X2b® ) 1/EJ dx = [ x +3/4 x2b +3/16 X | 1/E3

=(4b+12b+12b) 1/EJ =28 b/EJ

L%=[(16) VEIdx+4 4 v4 biEI=[16x]] VEJ +4 4 U4 bIE]

=(16b) 1/EJ +4 4 1/4 b/EJ =20 b/EJ

L%="(16) VEIdx+4 4 14 b/EI=[16x] VEI +4 4 1/4 bIE]

=(16b) 1/EJ +4 4 1/4 b/EJ=20 b/EJ
L= 1"(em?) eI dx=[13xm? ] 1Ed
=(64/3b) 1/EJ =64/3 b/EJ

b 4b
%= "(16 -8 x/b + xIb ) 1EJ dx = [16 x-4 ¥ +1/3 % ]| 1/E3

=(64b-64b+64/3b) 1/EJ =64/3 bIEJ

L = ["(-4+xb ) Fb 1/E dx = [-4 x +1/2 X% | Fb 1/E3
=(-16b+8b ) Fb 1/EJ =-8 Fb’/EJ

18 =[(-xib ) Fb 1/E3 dx = [-1/2 b | Fb 1/E

=(-8b) Fb 1/EJ =-8 Fb’/EJ

b 4b
L = ["(12 -37/4 xib +21/16 26> ) Fb L/EI dx = [12 x -37/8 X’/b +7/16 x/b° | Fb 1/EJ
o o

=(48b-74b+28b ) Fb 1/EJ =2 Fb’/EJ

12 = [°(-4 -5/4 b +21/16 X*/b? ) Fb 1/EJ dx = [4 x -5/8 X%Ib +7/16 X | Fb 1/E3

=(-16b-10b +28 b ) Fb 1/EJ =2 Fb*/EJ

b
22 =["(12) Fo UEI dx+4 3 1/4 Fb2EI=[12x]. Fb 1/EJ +4 3 1/4 FbYE
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=(12b) Fo 1/EJ +4 3 1/4 FbY/E] =15 Fb’/EJ

=0 (12) Fo UEI dx+4 3 14 FoYEI=[12x ] Fb UEJ +4 3 1/4 FbYE]
=(12b) Fb 1/EJ +4 3 1/4 Fb’/EJ =15 Fb’/EJ

L0 =["(m2 ) Fo eI dx + [ (x1b) © dx = [1/3x°02]" Fb 1/E3 + [12 0] 0
=(64/3b) Fo1/EJ +(8b) 6 =88/3 Fb/EJ

0= (16 -8 x/b+ x> ) Fo UEI dx + [ (-4+xb ) © dx
=[16x-4 b +1/3xb° ] Fb UEI + [-4x+12 b ] 6
=(64b-64b+64/3b ) Fb 1/E] +(-16 b +8b ) 6 =88/3 Fb¥/EJ
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Sviluppi di calcolo iperstatica

%= ["(1 -2/3 x/b +1/9 X¥/b? ) VEIdx+1 1 1/4 bIEJ
= [ x-1/3 ¢ +1/27 621" 1E3 +1 1 1/4 blE
=(3b-3b+b) VEJ +1 1 1/4 b/EJ=5/4 b/E]

L= ["(19xb%) VEIdx+1 1 14 biEI=[1/27xb%]” 1EI +1 1 14 bIEI
=(b) 1/EJ +1 1 1/4 b/EJ=5/4 b/EJ

LX=1"(1) veadx=[x]" 1Es
=(3b) 1/EJ =3 b/EJ

LX=1"(1) veadx=[x]" e
=(3b) 1/EJ =3 b/EJ

%= (19 62 ) vEI dx = [1227 i? ] 1B
=(b) 1/EJ = b/EJ

L% = 7(1 213 x1b +1/9 5% ) 1D dx = [ x-1/3 X% +1/27 xb* ] 1/E3
=(3b-3b+b) 1/EJ = b/EJ

122 = ["(-9 +9/2 x/b -1/2 X¥1b? ) Fb 1/E3 dx = [-0 x +9/4 x¢1b -1/6 x1b* | Fb 1/E3
=(-27b+81/4b-9/2b ) Fb 1/EJ = -45/4 Fb’/EJ

122 = [*(-312 b -1/2 X216 ) Fb 1/E3 dx = [-3/4 x%1b -1/6 /% |, Fb 1/E3
=(-27/4b-9/2b ) Fb 1/EJ = -45/4 Fb’/EJ

1 = [7(- xib -213 x1b% ) Fb UEI dx + [ (1/3x/b ) 6 dix
= [-12 %0 219 ? ] Fo wEd + 6 0] 6
=(-92b-6b)Fo1/EJ +(3/2b) 6 =-9 Fb’/EJ

120 = (-0 +5 x1b -2/3 x> ) Fo UEI dx + [ (-1 +1/3x1b ) © dx
=[-9x +5/2 %0 -2/9 X2 ] Fb 1/ES + [-x +1/6 b ] 0
=(-27b+45/2b-6b ) Fb 1/EJ +(-3b+32b )6 =-9 Fb*/EJ
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